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woid hanoi ( int nlhisk, char start, char tewmp, char finish, bool f£lg){
static int itr:;
if(flo
itr=0;
if [ nhizsk == 1 ]1{
cout << setwid) <<++itr<<™) "4 start << " o ——> " g4 finish << endl:
¥
elsed
hanoi | nbhisk - 1, start, finish, temp ):
cout <<setw(d)] <<++itr<<™] To<start << " ——> " <« finish << endl:
hanoi | nbhisk - 1, temwmp, start, finish i:
¥
¥

#define FIRST CALL true
volid hanoi [ int nlisk, char start, char temp, char finish,bool flg=falzse):
int mwaini() {

hanoiiz, 'a', 'B', 'C', FIRST CALL);

cout<<endl:

hanoi (s, '4', 'B', 'C',FIRST CALL):

return 0O;
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vold hanoi [ int nDhisk,
static int itr;
itr=num;

if

char start, char temp,

[ nhis 1 14

cout << setw(d) <<++itr<<"] << start <<

¥

elaed
hanoi [ nhisk - 1, start,

cout <<setw(d) <<++itr<<™)

hanoi [ nhisk - 1,

finish, temp,

Focstart <<

temp, sStart,

finish,

wold hanoi |
int maini) {
hanoi (3,

int nbhisk, char start, char temp,
IAI;
cout<<endl;

IAI;

IBI; I':':':-

hanoiis, 'B', 'C'):

return 0;

s Peanbp el

char finish, int num)

LU

<< finish << endl:;

itr ):
__:} r
itr ):

<< finish << endl:;

char finish,int nuwm=0) ;
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ginclude <iostream:>
s 1lng hnamespace std;
| int main ()4
const int 3IZE = 7;
int numbers[3IZE] P11, 2, 4, 8}
cout << "Here are the contents of the array:yn':
for (int index = 0; index < SIZE; index++4)

cout << numbers[index] << T ]
cout << endl:
return 0O;

Here are the contents of the array:
1 2488088
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int main/)
const int SIZE=5:; /4 defines the size N for 5 elements
double a[5IZE]; // declares the array's elements as type double
cout << "Enter " << S5IZE << " numbers:\t";
for (int 1=0; 1<5IZE; 1i++)
cin »>> al[il:
cout << "In reverse order: ";
for (int i=5IZE-1l; i>=0; i--)
cout << "W t" << a[i):
cout<<endl;

L numbers: 11 24 6 7 8B
reverse order: L 7
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int a[6]={3,2,4,5,6,1}:

int numbers([7] = {1, 2, 4, 8};

1|
1 ‘ ‘J Uninitialized Elements
4 8

1 2 0 0 0
numbers numbers numbers numbers numbers numbers numbers

(0] (1] (2] (3] (4] (5] (6]

nt (6]=(0} 2
of 22.2

float & |={22.2,44.4,66.6} 1| 4.4

float a[3] = { 22.2, 44.4 66.6,88.8 };

9).‘&[).)) i // ERROR: too many values!
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Const j/ aslaiwhk

Const int n=15;

- : define ¢osijbpuiy jl oslatwhk
#include <iostream: #define n15

n3ing namespace 3td;

int mwain(l{
const int array3ize = 10;
int n[array3ize]={1,2,3,4,5,6,7,8,9,10}; // array = has 10 elements
Ff initialize elements of array n to 0
for ( int 1 = 0; 1 < array3ize; 14+ )
n[i]=0;
cout << "Elementiththt™ << "Value"™ << endl;
df output each array element's walue
for ( int 3 = 0; J < arrayaize; J++ |
cont << ] <<€ "ehehe™ <€ n[ J ] << endl;
return 0O;

rr
el
).
]
m
=
=+

5
1
2
3
4
=
b
7
L]
9
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short age[6]: o =—

20 albly J0I LA b Short 51 o

age array: Each element uses 2 bytes
I I I I I I
\ J \ ~ J \ ~ J \ ~ J \ ~ J \ ~ J
} $ { ) } ¢

Element0 Element1 Element2 Element3 Element4 Element5

ARRAY DECLARATION NUMBER OF ELEMENTS SIZE OF EACH ELEMENT SIZE OF THE ARRAY
char letter[26]; 26 1 byte 26 bytes

short ring[100]; 100 2 bytes 200 bytes

int mile[84]; 84 4 bytes 336 bytes
float temp[12]; 12 4 bytes 48 bytes
double distance[1000]; 1000 8 bytes 8,000 bytes

1P
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An Uninitialized Array

int main()
{ const int 5IZE=4; /) defines the =size N for 4 slements
float a[SIZE]): // declares the array's elements as type float
for (imt 1=0; 1<5IZE; 1i++)

cout << "\ta[" << 1 << "] = " 22 ali] << endl;
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float Q7] ={ 7.2, 3.4, 4.6} :
float b[7] = { 53.3, 565.5, 7.7 }
b=a //erroR

sl eiiws b @ ) ahl G elgisel
;0235 0363w )y (swly1 @ Wyl (,o3)1sEs

float a[7] = { 222.2, 344.4, 866.6 }:

float b[7] =&, // ERROR
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tinclude <instream:
using namespace 3td;int main()

const int 5IZE=4; // defines the size N for ¢4 elements

double a[SIZE]={ 33.3, 44.4, 55.5, 6€6.6 };// declares the array's elements a3 double

33.3
44 _4
55.5

for (int i=0, i<7; i++) //ERROR: index i3 out of bounds!
cout €< "tal" <€ 1 <€¢ "] =" <€ a[i] << endl;

66 .6
—9.255%6e +B61
—2.255%6e +861

1.9872%7e-387
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Pay = hours [3] * rate ;
Int score[] = {7, 8, 9, 10, 11} ;
++score[ 2] ; /I Pre-increment operation on the value in score [2]
SCOor e[ 4] ++ : // Post-increment operation on the value in score [4]
amount [ count] -- ; /This decrements the value stored in amount [count].

anmount [ count - - ] ! /IThis decrements the variable count, but dose

/Inothing to the value stored in amount [count].
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CCuw! Ain
c[ 0] -45 -
o Bk b 6
e 0
o ] 72 C[a+b]+:2,
c[ 4] 1543 - x:c[6]/2+c[a+b];
el as -89
—p [ 6 ] 0
el 7l 62
chis] -3
ereasl 1
c[ 10 ) 6453
- [ 11 ] 78 o

csuRPanlp csSlw



int main ()

const int HUH_WDRKERS
int worker:
int hours[NUM WORKERS];

double pavBRate, grossPav;

" << NUM WORFELS

Enter the hours worked by 5% emplovees who all
earn the szame hourly rate.

#i: 12

#2: 3

#3: 44

fi4: 5

(worker

0; worker < NUM WOREERS; worker++)

#i5: &
Enter the hourly pay rate for all the employvees: 12

Here iz the gross pay for each employee:

cout << "Emplovee F" << (worker+l) << ": "; Wz 6144

. - . . #2: 536

cin »» hours|[worker]: #3: 4528

} #4: 560

. #5: 572

cout << "\nEnter the hourly pay rate for all the emplovess: B

cin >> pavyRate;

cout << "\nHere iz the gross pay for each employee:\n";

//fcr (worker = 0; worker < NUM WORKERS: worker++)

double grossPay
cout << "Employee
cout << ":

=TT
5

L

el |

\\}

hours [worker]

* pavRate;

(worker+l) ;

<< grossPav << endl;

~

return 0;
}

CSJW.QJMU}% CSJU'D



Jio =

$¥include <iostreams>
using namespace std;

int a[] = {1,

result=0:;

PRy

2y
int n,

()

] int main

for n=0 » n<S » n++

(
result += a[n]:

}
court <<

return 0;

"The sum i=s:"

40} ;

The sum i=:58

<<result;
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{12,3,4,6,13,16,2,7,0,9}
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